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SECONDARY SCHOOL EXAMINATION – 2025 (ANNUAL) 
   

ek/;fed Ldwy ijh{kk & 2025 ¼okf’kZd½ 
 

fo"k; dksM % 118           MODEL SET 

  Home Science (Theory) 

                  (Optional) 
     x`g foKku¼lS)kfUrd½ 

            ¼,sfPNd½ 

¼le; % 2 ?kaVs 45 feuV½ 

[Time : 2 Hours 45 Minutes] 

dqy iz'uksa dh la[;k %70$20$6 ¾ 96                                     ¼iw.kkZd % 70½  

Total No. of Questions : 70+20+6 = 96                                                                      [Full Marks : 70] 

 

ijh{kkfFkZ;ksa ds fy, funsZ'k @ Instructions for the candidates : 

 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz'u iqfLrdk Øekad ¼10 vadks dk½ vo'; fy[ksaA 

Candidates must enter his / her Question Booklet Serial No. (10 Digits) in the OMR Answer 

Sheet. 
 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answer in their own words as far as practicable. 

 

3- nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right-hand margin indicate full marks. 
 

4- iz'uksa dks /;ku iwoZd i<+us ds fy, 15 feuV dk vfrfjä le; fn;k x;k gSA 

An extra time of 15 minutes has been allotted to read the questions carefully. 
 

5- ;g iz'u i= nks [k.Mksa esa foHkä gS & [k.M Þvß ,oa [k.M ÞcßA 

This question booklet is divided into two sections – Section “A” and Section “B”. 
 

6- [k.M Þvß esa 70 oLrqfu"B iz'u gSaA ftuesa ls fdUgh 35 iz”uksa dk mÙkj nsuk vfuok;Z gSA 35 ls vf/kd 

iz”uksa dk mÙkj nsus ij izFke 35 mÙkjksa dk gh ewY;kadu fd;k tk,xkA izR;sd mÙkj ds fy, 01 vad 

fu/kkZfjr gSA lgh mÙkj dks miyC/k djk, x, vks-,e-vkj- mÙkji=d esa fn, x, lgh fodYi dks 

dkys@uhys ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj dk OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk 

vks-,e-vkj- mÙkjif=dk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 
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In Section-A, there are 70 objective type questions, out of which any 35 questions are to be 

answered. First 35 answers will be evaluated in case more than 35 questions are answered. Each 

question carries 01 mark. For answering these darken the circle with blue/black ball pen against 

the correct option on OMR answer sheet provided to you. Do not use Whitener/Liquid/Blade/Nail 

etc. on OMR Sheet; otherwise the result will be invalid. 
 

7- [k.M Þcß esa dqy 20 y?kq mÙkjh; iz'u gSa] ftuesa ls fdUgha 10 iz'uksa dk mÙkj nsuk vfuok;Z gSA izR;sd 

iz'u ds fy, 2 vad fu/kkZfjr gSaA blds vfrfjä] bl [k.M esa 06 nh?kZ mÙkjh; iz'u fn, gSa] ftuesa ls 

fdUgha rhu iz'uksa dk mÙkj nsuk gSA izR;sd iz'u ds fy, 5 vad fu/kkZfjr gSA 

In Section-B there are 20 short Answer Type Questions, out of which any 10 questions have to be 

answered. Each question carries 2 marks. Apart of this, there are 6 Long Answer Type questions, 

out of which any 3 questions are to be answered. Each questions carries 5 marks. 
 

8- fdlh izdkj ds bysDVªkfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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[k.M & v @ Section-A 

oLrqfu"B iz'u @ Objective Type Questions 

iz'u la[;k 1 ls 70 rd ds izR;sd iz'u ds lkFk pkj fodYi fn;s x;s gSa] ftuesa ls ,d 

lgh gSA vius }kjk pqus x;s fodYi dks OMR 'khV ij fpfàr djsaA dsoy 35 iz'uksa ds gh 

mÙkj nsaA 35 x 1 = 35 

Question Nos 1 to 70 have four options each, out of which one is correct, Mark your selected 

option on the OMR sheet. Answer any 35 questions. 35 x 1 = 35 

 

1- fuEu esa ls 'osr jä dksf'kdkvksa dk D;k dk;Z gS \ 

 (A) vkWDlhtu dk ifjogu (B) laØe.k ls cpko  

 (C) gheksXyksfcu dk mRiknu (D) jä ifjlapj.k esa o`f) 

 Which of these is the function of white blood cells? 

 (A) Transport oxygen (B) Defence against infection  

 (C) Produce haemoglobin (D) Increase blood circulation 

 

2- ekuo 'kjhj esa ew= dgk¡ ,d= gksrk gS \ 

 (A) xqnsZ (B) eq=k'k;  

 (C) ;d`r (D) usÝkWu 

 Where is urine collected in the human body? 

 (A) Kidney (B) Urinary Bladder  

 (C) Liver (D) Nephron 

 

3- dkSu&lk vax 'olu ra= dk Hkkx ugha gS \ 

 (A) ukd (B) QsQM+s  

 (C) ;d`r (D) 'okluyh 
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 Which organ is not a part of respiratory system? 

 (A) Nose (B) Lungs  

 (C) Liver (D) Respiratory tract 

 

4- ekuo 'kjhj esa xqnsZ }kjk fuEufyf[kr esa ls dkSu lk dk;Z fd;k tkrk gS \ 

 (A) mRltZu (B) 'olu  

 (C) ikpu (D) ifjogu 

 Which of the following functions is performed by the kidneys in the human body? 

 (A) Excretion (B) Respiration  

 (C) Digestion (D) Transportion 

 

5- ekuo 'kjhj esa fdruh gfì;k¡ gksrh gSa \ 

 (A) 100 (B) 106  

 (C) 200 (D) 206 

 How many bones are there in a human body? 

 (A) 100 (B) 106  

 (C) 200 (D) 206 

 

6- ikpu esa ra= esa nk¡rksa dk dk;Z gS & 

 (A) dkVuk (B) QkM+uk  

 (C) ihluk (D) buesa ls lHkh 

 The function of teeth in the digestive system is - 

 (A) Cutting (B) Tearing  

 (C) Grinding (D) All of these 
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7- buesa ls dkSu ekuo 'kjhj esa ifjlapj.k ra= dk eq[; ?kVd gS \ 

 (A) [kwu  (B) :f/kj okfgfu;k¡ 

 (C) ân; (D) buesa ls lHkh 

 Which of the following is the main component of the circulatory system in the human body? 

 (A) Blood (B) Blood vessels 

 (C) Heart (D) All of these 

 

8- gekjs ikpu ra= ds dkSu ls Hkkx Hkkstu ipkus esa lgk;rk djrs gSa \ 

 (A) ;d`r vkSj vXU;k'k; (B) vek'k; vkSj ;d`r  

 (C) vkek'k; ,oa NksVh vkar (D) NksVh vkSj cM+h vkar 

 Which parts of our digestive system help to digest food? 

 (A) Liver and pancreas (B) Stomach and liver  

 (C) Stomach and small intestine (D) Small and large intestines 

 

9- buesa ls dkSu jä dk dk;Z gS \ 

 (A) laØe.k ls yM+uk (B) iks"kd rRoksa vkSj gkeksZu dk ifjogu  

 (C) 'kjhj ds rkieku dks fu;af=r djuk (D) buesa ls lHkh 

Which of the following is a function of blood? 

 (A) Fight infections (B) Transport of nutrients and hormones  

 (C) Regulates body temperature (D) All of these 

 

10- buesa ls dkSu lk foVkfeu [kkuk idkus ds nkSjku rki ls u"V gks tkrk gS \ 

 (A) foVkfeu&E (B) foVkfeu&B  

 (C) foVkfeu&C (D) foVkfeu&A 
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 Which vitamin is destroyed by heat during cooking? 

 (A) Vitamin-E (B) Vitamin-B  

 (C) Vitamin-C (D) Vitamin-A 

 

11- fuEufyf[kr esa ls dkSu okrkoj.kh; jksx ugha gS \ 

 (A) risfnd (B) ,uhfe;k  

 (C) dkyh [kk¡lh (D) mi;qä lHkh 

 Which of the following is not an environmental disease? 

 (A) Tuberculosis (B) Anaemia  

 (C) Whooping cough (D) All of these 

 

12- cPpksa esa jksx izfrjks/kd {kerk fdl nw/k ls c<+rk gS \ 

 (A) ek¡ dk nw/k (B) cdjh dk nw/k  

 (C) HkSal dk nw/k (D) xk; dk nw/k 

Which milk increases immunity in children? 

 (A) Mother’s milk (B) Goat’s milk  

 (C) Buffalo’s milk (D) Cow’s milk 

 

13- fuEufyf[kr esa ls dkSu lrgh ty dk lzksr ugha gS \ 

 (A) unh (B) uydwi  

 (C) o"kkZ ty (D) rkykc 

 Which of the following is not a source of surface water? 

 (A) River (B) Hand pump  

 (C) Rain water (D) Pond 
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14- Hkkstu idkus esa fuEufyf[kr esa ls fdldk vf/kd iz;ksx gkfudkjd gksrk gS \ 

 (A) ?kh (B) elkys  

 (C) lksMk (D) buesa ls lHkh 

 Excess use of which of the following is harmful in cooking? 

 (A) Ghee (B) Spices  

 (C) Soda (D) All of these 

 

15- leqnz dk ty gksrk gS \ 

 (A) Lokfn"V (B) [kkjk  

 (C) ehBk (D) [kV~Vk 

 Sea water is - 

 (A) Tasty (B) Salty  

 (C) Sweet (D) Sour 

 

16- Qwyksa dks rjksrktk j[kus ds fy, Qwynku esa Mkyuk pkfg, & 

 (A) lksMk (B) ued  

 (C) phuh (D) lkcqu 

 To keep flowers fresh________should be put in vase______. 

 (A) Soda (B) Salt  

 (C) Sugar (D) Soap 

 

17- foVkfeu C dk lcls mÙke lzksr gS & 

 (A) vk¡oyk (B) larjk  

 (C) xktj (D) ¼A½ vkSj ¼B½ nksuksa 
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 Best sources of Vitamin C is - 

 (A) Amla (B) Orange  

 (C) Carrot (D) Both A and B 

 

18- buesa ls fdl dejs dks jkt lkQ djus dh t:jr ugha gS \ 

 (A) csM:e (B) HkaMkj x`g  

 (C) Luku?kj (D) Mªkbax :e 

 Which of these rooms need not to be cleaned every day? 

 (A) Bedroom (B) Store room  

 (C) Bathroom (D) Drawing 

 

19- HkksT; inkFkksaZ dks yEcs le; rd lajf{kr j[kk tkrk gS------------------- 

 (A) <ds gq, crZu esa (B) jsfÝtjsVj esa  

 (C) [kqyh txg esa (D) buesa ls lHkh 

 Food items are preserved for a long time in - 

 (A) Covered utensil (B) Refrigerator  

 (C) Open space (D) All of these 

 

20- buesa ls dkSu x`g okfVdk dk ykHk ugha gS \ 

 (A) gfj;kyh (B) vPNk LokLFk  

 (C) vfrfjä vk; (D) okLrfod tSfod mit 

 Which of these is not a benefit of a home garden? 

 (A) Greenery (B) Good health  

 (C) Additional income (D) Real organic production 
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21- ?kjsyw QuhZpj gksuk pkfg, & 

 (A) cgqdk;kZRed (B) vjkensg  

 (C) dherh (D) ¼A½ ,oa ¼B½ nksuks 

 The household furniture should be - 

 (A) Multifunctional (B) Comfortable  

 (C) Costly (D) Both (A) and (B) 

 

22- fuEufyf[kr esa ls dkSu [kfut yo.k ugha gS \ 

 (A) izksVhu (B) ykSg  

 (C) iksVSf'k;e (D) vk;ksMhu 

 Which of the following is not a mineral salt? 

 (A) Protein (B) Iron  

 (C) Potassium (D) Iodin 

 

23- LoLFk jgus ds fy, gesa -------------------ysuk pkfg,&  

 (A) ikSf"Vd Hkkstu (B) mi;qä Hkkstu  

 (C) larqfyr Hkkstu (D) mijksä lHkh 

 To stay healthy, we should eat ______ food. 

 (A) Nutritious food (B) Suitable food  

 (C) Balanced diet (D) All the above 

 

24- /ofu iznw"k.k izHkkfor djrk gS & 

 (A) vke'k; dks (B) o`Dd dks  

 (C) dku dks (D) ;d`r dks 
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 Noise pollution affects - 

 (A) Stomach (B) Kidney  

 (C) Ear (D) Liver 

 

25- buesa ls dkSu ok;q iznw"k.k ds izkd`frd dkj.k ugha gS \ 

 (A) TOkykeq[kh (B) /kwyHkjh vk¡/kh  

 (C) tyrk dks;yk (D) /kq¡/k 

 Which of the following is not a natural cause of air pollution? 

 (A) Volcano (B) Dust storm  

 (C) Burning coal (D) Fog 

 

26- ihry ds cÙkZuksa dks lkQ djus ds fy, D;k iz;ksx fd;k tkrk gS \ 

 (A) czklks (B) uhacw  

 (C) beyh (D) buesa ls lHkh 

 What is used to clean brass utensils? 

 (A) Brasso (B) Lemon  

 (C) Tamarind (D) All of these 

 

27- buesa ls dkSu Je vkSj le; cpkkus okys midj.kksa dk ykHk ugha gS 

 (A) dke dh xq.koÙkk esa lq/kkj (B) mRikndrk esa o`f)   

 (C) de FkdkoV (D) mPp izkjafHkd fuos'k ykxr 

 Which of the following is not an advantage of labour and time saving devices? 

 (A) Improvement in quality of work (B) Increased productivity  

 (C) Reduced drudgery (D) High initial investment 
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28- buesa ls dkSu nwf"kr ikuh ls QSyus okyk jksx gS \ 

 (A) gStk (B) jäkYirk  

 (C) eysfj;k (D) {k; jksx 

 Which of the following disease spreads through contaminated water? 

 (A) Cholera (B) Anaemia  

 (C) Malaria (D) Tuberculosis 

 

29- fuEu esa ls dkSu tad QwM gS \ 

 (A) cxZj (B) fiTtk  

 (C) fpIl (D) mi;qä lHkh 

 Which of the following is a junk food? 

 (A) Burger (B) Pizza  

 (C) Chips (D) All of these 

 

30- Hkkstu dh vko';drk D;ksa gksrh gS \ 

 (A) 'kjhj dh o`f) ds fy, (B) jksxksa ls j{kk ds fy,  

 (C) ÅtkZ ds fy, (D) mi;qä lHkh 

 Why is food needed? 

 (A) For the growth of the body (B) For protection against diseases  

 (C) For energy (D) All of the above 

 

31- fuEu esa ls dkSu ?kj ds ckgj [ksys tkus okyk [ksy gS \ 

 (A) QqVckWy (B) 'krjat  

 (C) ywMks (D) dSje 
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 Which of the following is an outdoor game? 

 (A) Football (B) Chess  

 (C) Ludo (D) Carrom 

 

32- fuEufyf[kr esa ls dkSu ePNj tfur chekjh ugha gS \ 

 (A) eysfj;k (B) Msaxw  

 (C) fpduxqfu;k (D) ân; jksx 

 Which of the following is not a mosquito borne disease? 

 (A) Malaria (B) Dengue  

 (C) Chikugunya (D) Heart disease 

 

33- fe;knh cq[kkj esa 'kjhj dk dkSu lk vax izHkkfor gksrk gS \ 

 (A) QsQM+s (B) frYyh  

 (C) ;d`r (D) vk¡r 

Which part of the body is affected in typhoid? 

 (A) Lungs (B) Spleen  

 (C) Liver (D) Intestine 

 

34- iks"kd rRoksa dks lajf{kr djus ds fy, [kkuk idkus dh dkSu lh fof/k loksZÙke gS \ 

 (A) Hkki esa idkuk (B) Hkwuuk  

 (C) mckyuk (D) ryuk 

Which cooking method is best to preserve nutrients? 

 (A) Steaming (B) Roasting  

 (C) Boiling (D) Frying 
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35- buesa ls dkSu i;kZoj.k iznw"k.k dk dkj.k ugha gS \ 

 (A) tula[;k foLQksV (B) 'kgjhdj.k  

 (C) o`{kkjksiu (D) vkS|ksxhdj.k 

 Which of these is not a reason for environmental pollution? 

 (A) Population explosion (B) Urbanization  

 (C) Plantation (D) Industrialization 

 

36- tc Hkkstu [kjkc gks tkrk gS rc----------esa ifjorZu vk tkrk gSA 

 (A) xa/k (B) :i  

 (C) Lokn (D) buesa ls lHkh 

 When food gets spoiled, there is a change in…………. 

 (A) Odour (B) Appearance  

 (C) Flavour (D) All of these 

 

37- Hkkstu izrhd gS & 

 (A) fe=rk dk (B) vkfrF; dk  

 (C) viukiu dk (D) buesa ls lHkh 

 Food is a symbol of - 

 (A) Friendship (B) Hospitality  

 (C) Closeness (D) All of these 

 

38- buesa ls dkSu ?kjsyw xfrfof/k ugha gS \ 

 (A) [kkuk cukuk (B) cktkj tkuk  

 (C) ?kj dh ns[kHkky djuk (D) ctV cukuk 
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 Which of the following is not a household activity? 

 (A) Cooking (B) Going to market  

 (C) Taking care of the house (D) Making budget 

 

39- fuEufyf[kr esa ls dkSu lh fof/k jksVh cukus dh gS \ 

 (A) lsaduk (B) ryuk  

 (C) Hkwuuk+ (D) buesa ls dksbZ ugha 

 Which of the following is a method of making roti? 

 (A) Baking (B) Frying  

 (C) Roasting (D) None of these 

 

40- vk¡[kksa ds fy, lcls vPNk foVkfeu dkSu lk gS \ 

 (A) foVkfeu&, (B) foVkfeu&lh  

 (C) foVkfeu&Mh (D) foVkfeu&bZ 

 What is the best vitamin for eyes? 

 (A) Vitamin A (B) Vitamin C  

 (C) Vitamin D (D) Vitamin E 

 

41- cPpksa ds f[kykSus ds fy, dkSu lh lkexzh lcls mi;qä gS \ 

 (A) IykfLVd (B) ydM+h  

 (C) diM+k (D) /kkrq 

 Which material is most suitable for kid’s toys? 

 (A) Plastic (B) Wood  

 (C) Textile (D) Metal 
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42- vkgkj vk;kstu gS & 

 (A) ,d dyk (B) ,d foKku  

 (C) ,d rRo (D) ¼A½ vkSj ¼B½ nksuksa 

 Meal planning is - 

 (A) An Art (B) A Science  

 (C) An Element (D) Both (A) and (B) 

 

43- fuEufyf[kr esa ls dkSu Lojkstxkj gS \ 

 (A) ijke'kZnkrk (B) ikVhZ fu;kstd  

 (C) vkarfjd lTtkdkj (D) buesa ls lHkh 

 Which of the following is self -employment? 

 (A) Counsellor (B) Party planner  

 (C) Interior decorator (D) All of these 

 

44- [kkuk cukus ds fy, dkSu lk crZu lcls lqjf{kr gS \ 

 (A) LVsuysl LVhy (B) dk¡p  

 (C) ihry (D) rk¡ck 

 Which utensil is the safest for cooking? 

 (A) Stainless steel (B) Glass  

 (C) Brass (D) Copper 

 

45- fuEufyf[kr esa ls dkSu is; inkFkZ gS \ 

 (A) tSe (B) 'kcZr  

 (C) eqjCck (D) tSyh 
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 Which of the following is beverage? 

 (A) Jam (B) Squash  

 (C) Marmalade (D) Jelly 

 

46- ,d izkFkfed mipkjdÙkkZ esa D;k xq.k gksuk pkfg, \ 

 (A) rRij ,oa rqjUr (B) 'kkUr ,oa fu;af=r  

 (C) dq'ky ,oa O;ogkj dq'ky (D) buesa ls lHkh 

 What qualities should a first aider have? 

 (A) Prompt and quick (B) Calm and controlled  

 (C) Skilful and well-behaved (D) All of these 

 

47- buesa ls dkSu tyeaMy esa 'kkfey gS \ 

 (A) lrg ij ikuh (B) Hkwfexr ty  

 (C) gok esa ikuh (D) buesa ls lHkh 

 Which of this is included in hydrosphere? 

 (A) Water on the surface (B) Underground Water  

 (C) Water in the air  (D) All the above 

 

48- buesa ls dkSu lcls yEch vof/k dk fuos'k gS \ 

 (A) thou chek (B) jk"Vªh; cpr izek.k i=  

 (C) cSad esa cpr (D) fdlku fodkl i= 

 Which of these is the longest-term investment? 

 (A) Life Insurance (B) National Saving Certificate  

 (C) Saving in Bank (D) Kisan Vikas Patra 
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49- cSad fdl tek ij dV¼VSDl½ ykHk nsrk gS \ 

 (A) lkof/k tek (B) cpr [kkrk  

 (C) vkorhZ tek (D) mijksä esa ls dksbZ ugha 

 On which deposit bank gives tax benefit? 

 (A) Fixed deposit (B) Saving account  

 (C) Recurring deposit (D) None of these 

 

50- dkSu lk dkjd cpr dk fu/kkZj.k djrk gS \ 

 (A) cpr djus dh ;ksX;rk (B) cpr djus dh bPNk  

 (C) cpr djus dh i;kZIr lqfo/kk,¡ (D) buesa ls lHkh 

 Which factor determines saving? 

 (A) Ability to save (B) Desire to save  

 (C) Enough opportunities to save (D) All of these 

 

51- ?kjsyw cpr fdrus izdkj dk gksrk gS \ 

 (A) 2 (B) 3  

 (C) 4 (D) 5 

 Household budget is of how many types? 

 (A) 2 (B) 3  

 (C) 4 (D) 5 

 

52- ?kj esa insZ dk D;k mís'; gS \ 

 (A) ,dkarrk (B) lqj{kk  

 (C) lqnajrk (D) buesa ls lHkh 
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 What is the purpose of curtain in the house? 

 (A) Privacy (B) Security  

 (C) Beauty (D) All of these 

 

53- gjh iÙkhnkj lfCt;ksa esa ik;k tkrk gS & 

 (A) izksVhu (B) [kfut yo.k  

 (C) Xywdkst (D) 'kdZjk 

 ……… is found in green leafy vegetables? 

 (A) Protein (B) Mineral salt  

 (C) Glucose (D) Sugar 

 

54- fuEufyf[kr esa ls fdlesa Qyksa ds VqdM+s lkcqr voLFkk esa jgrs gSa \ 

 (A) tSe (B) tSyh  

 (C) eqjCck (D) 'kcZr 

 In which of the following pieces of fruit remain intact? 

 (A) Jam (B) Jelly  

 (C) Marmalade (D) squash 

 

55- fuEufyf[kr esa ls dkSu izksVhu dk okuLifrd lzksr ugha gS \ 

 (A) nkysa (B) lks;kchu  

 (C) nw/k (D) puk 

 Which of the following is not a vegetative source of protein? 

 (A) Pulses (B) Soyabean  

 (C) Milk (D) Gram 
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56- dkSu lk bZa/ku iznw"k.k jfgr gksrk gS \ 

 (A) lkSj pwYgk (B) ck;ksxSl  

 (C) ,yŒihŒthŒ (D) buesa ls lHkh 

 Which fuel is pollution free? 

 (A) Solar cooker (B) Biogas  

 (C) L.P.G. (D) All of these 

 

57- [ksy esa fdu rRoksa dk gksuk vko';d gS \ 

 (A) Lora=rk (B) LoLFk izfrLi/kkZ  

 (C) vkuUn (D) buesa ls lHkh 

 Which elements are needed in the game? 

 (A) Freedom (B) Healthy competition  

 (C) Pleasure (D) All of these 

 

58- fdl ikpu vax esa vEy gksrk gS \ 

 (A) vkek'k; (B) NksVh vk¡r  

 (C) cM+h vk¡r (D) buesa ls dksbZ ugha 

 Which digestive organ contains acid? 

 (A) Stomach (B) Small intestine  

 (C) Large intestine (D) None of these 

 

59- dpjs ds fuiVku dh fof/k gS & 

 (A) tykuk (B) cukuk  

 (C) tehu esa Hkjuk (D) buesa ls lHkh 
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 Method of disposal of garbage is by - 

 (A) Incineration (B) Composting  

 (C) Land filling (D) All of these 

 

60- jlksbZ ds dwMs+nku dks dc lkQ djuk pkfg, \ 

 (A) gj ?kaVs (B) jkstkuk  

 (C) lkIrkfgd (D) dHkh Hkh 

 When should kitchen dustbin cleaned? 

 (A) Hourly (B) Daily  

 (C) Weekly (D) Any time 

 

61- fuEu esa ls dkSu cPpksa ds nk¡r fudyus dk y{k.k ugha gS \ 

 (A) cq[kkj vkuk (B) nLr gksuk  

 (C) elwM+s esa nnZ gksuk (D) dku esa nnZ gksuk 

 Which of the following is not the symptom of teething of babies? 

 (A) Fever (B) Diarrhoea  

 (C) Gum pain (D) Earache 

 

62- fuEufyf[kr esa ls dkSu jklk;fud ifjj{kd gS \ 

 (A) lkbfVªd ,flM (B) ued  

 (C) rsy (D) elkys 

 Which of the following is a chemical preservative? 

 (A) Citric acid (B) Salt  

 (C) Oil (D) Spices 
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63- fuEufyf[kr esa ls dkSu rjy vkgkj gS \ 

 (A) dLVMZ (B) lCth ds xwns  

 (C) Qyksa dk jl (D) f[kpM+h 

 Which of the following is a liquid diet? 

 (A) Custard (B) Vegetable pulp  

 (C) Fruit juice (D) Khichdi 

 

64- cPpksa esa fueksfu;k jksx fdl ra= ls lacaf/kr gS \ 

 (A) 'olu ra= (B) ikpu ra=  

 (C) is'kh ra= (D) vfLFk ra= 

 Pneumonia in children is related to which system? 

 (A) Respiratory system (B) Digestive system  

 (C) Muscular system (D) Skeletal system 

 

65- f'k'kq ds 'kkjhfjd fodkl ds fy, dkSu lk iks"kd rRo vko';d gS \ 

 (A) izksVhu (B) ty  

 (C) [kfut yo.k (D) foVkfeu 

 Which nutrient is required for the physical growth of the body? 

 (A) Protein (B) Water  

 (C) Mineral (D) Vitamin 

 

66- nSfud thou esa fdldh cpr vfr vko';d gS \ 

 (A) le; (B) /ku  

 (C) Je (D) buesa ls lHkh 

 

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m



 
Page 22 of 26 

 

 In daily life, whose saving is very important? 

 (A) Time (B) Money  

 (C) Labour (D) All of these 

 

67- lHkh thfor izkf.k;ksa dh D;k fo'ks"krk gS \ 

 (A) o`f) vkSj fodkl (B) iztuu  

 (C) ÅtkZ mi;ksx (D) buesa ls lHkh 

 What is the characteristic of all living beings? 

 (A) Growth and development (B) Reproduction  

 (C) Energy use (D) All of these 

 

68- fuEufyf[kr esa ls dkSu 'k;ud{k dh ltkoV dks vkd"kZd cukrs gSa \ 

 (A) rkth iq"I O;oLFkk (B) insZ vkSj dkyhu  

 (C) mfpr izdk'k O;oLFkk (D) buesa ls lHkh+ 

 Which of the following makes the decoration of bedroom attractive? 

 (A) Fresh flower arrangement (B) Curtains and carpet  

 (C) Proper light arrangement (D) All of these 

 

69- okf'kax e'khu dk dk;Z gksrk gS & 

 (A) /kksuk (B) fupksM+uk  

 (C) lq[kkuk (D) buesa ls lHkh 

 The function of a washing machine is - 

 (A) Washing (B) Squeezing  

 (C) Drying (D) All of these 
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70- mPp vk; oxZ ds yksx lcls vf/kd [kpZ djrs gSa& 

 (A) edku ij (B) Hkkstu ij  

 (C) ifjokj ds yksxks ij (D) foykflrk ij 

 Higher income group people spend most on - 

 (A) House (B) Food  

 (C) Family (D) Luxury 

 

 

[k.M & c @ Section-B 

y?kq mÙkjh; iz'u @ Short Answer Type Questions 

iz'u la[;k 1 ls 20 rd ds y?kq mÙkjh; gSA fdUgh 10 iz'uksa ds mÙkj nsaA izR;sd iz'u ds 

fy, 2 vad fu/kkZfjr gSaA fuEufyf[kr ij yxHkx 40&50 'kCnksa esa laf{kIr fVIi.kh fy[ks10 x 2 = 20 

Question Nos 1 to 20 are short Answer Type. Answer any 10 questions. Each question carries 2 

marks. Write short notes on the following in approximately 40-50 words. 10 x 2 = 20 

 

1- Ropk 2 

Skin 

 

2- dSyksjh 2 

Calorie 

 

3- Mkd?kj cpr ;kstuk 2 

Post office saving scheme 

 

4- Hkki }kjk Hkkstu idkuk 

Cooking food by steam 
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5- izlo d{k dh rS;kjh 

Preparation of the delivery room 

 

6- ?kjsyw lQkbZ 

Household cleaning 

 

7- vk;ksfMu 

Iodine 

 

8- ok;q ds rRo 

Elements of air 

 

9- rjy vkgkj 

Liquid diet 

 

10- vkgkj laj{k.k ds mik; 

Measures of food preservation 

 

11- foVkfeu lh 

Vitamin C 

 

12- olk 

Fat 

 

13- nSfud vk; O;; 

Daily income expenditure 

 

14- x`fg.kh ds dÙkZO; 

Duties of housewife 
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15- ok;q iznq"k.k 

Air pollution 

 

16- larqfyr Hkkstu 

Balanced diet 

 

17- x`g okfVdk 

Home garden 

 

18- Lruiku 

Breast feeding 

 

19- vkek'k; 

Stomach 

 

20- Je cpr ds midj.k 

Labour saving equipment 

 

 

nh?kZ mÙkjh; iz'u @ Long Answer Type Questions 

iz'u la[;k 21 ls 26 rd ds nh?kZ mÙkjh; gSA izR;sd iz'u ds fy, 5 vad fu/kkZfjr gaSA buesa ls fdlh 3 iz'u dk mÙkj nsaA izR;sd iz'u ds mÙkj yxHkx 100 'kCnksa esa nsaA 3 x 5 = 15 

Question Nos 21 to 26 are Long Answer Type. Each question carries 5 marks. Answer any 3 

questions. Write your answer in approximately 100 word 1 x 4 = 4 

 

21- ikpu ra= ds vaxks dh lwph cuk,¡A 5 

List the organs of the digestive system. 

 

22- ihry ds crZuksa dh lQkbZ dSls dh tkrh gS \ o.kZu djsaA 5 

How are the brass utensils cleaned? Describe 

23- ckY;koLFkk ds D;k jksx gS \ 5 
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What are the childhood diseases? 

 

24- iznw"k.k fdrus izdkj ds gksrs gSa \ o.kZu djsaA 5 

How many types of pollution are there? Describe. 

 

25- Hkkstu idkus dh fdUgha ik¡p fof/k;ksa dk o.kZu djsaA 5 

Mention any five methods of cooking food. 

 

26- cpr ds fofHkUu ykHk D;k gS \ o.kZu djsaA 5 

What are the various benefits of saving? Explain. 
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